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M. (1) How many students are there?

[A] 24.
[B] 13.
[C]31.

W, EAERAT LUME BN ESEAR L.

Wr 1 BEE B R E 5 ST E

(—) iy fa)ad f8]

#im ;. (2) When did the conversation take place?

[A] 4:50. '
[(B] 4.30.
[C] 4:40.

BEB A RO 3 £ B AR, B 4, Tom said that he would be back at 4:40, but now it is
4: 50, MER A E#H. Z5 AR Tom said that he would be back at 4:40, it’s ten minutes
left now. MER BIEH. FANENHERARS - EEFH AL HESHAN. L, early.
late %, FAFEREHFSHONE#T—FTHE, TERIERER.

(2 WA .

HESENBE NN, MRBREHMAE S H FEHE, EEF4M— LR HNiER,

40 : (3) Where did he come form?

(A] France.
[B] Japan.
[CJChina.

MEL b SEIRAT A0, 2 A B3R 3 “fth A IR B3 2 7B WT . B A B ) W #E He came forme--
TR R BT ML TR . W.% 2% B0 B4R “He lived in France, and visited Japan for
three times, but he came form China. "4 a] IR B ERE R C.

(=) WRIA%Z

LR A A whoseswho; to whom AR BAMA G, L AFERMFAAHRTHA
$1§J’F¥U~—*X¢ﬁio

4l : (4) Mary told me Jane’s mother is coming to see us.

EUTIER , B4~ F B BRI URAXAE, URESFRHXAEE BRESEEX,
PERAT FHERXAME ., Who’s mother will come? 1 Who told the speaker the news?
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HMEEREAY M EE X, TEW KBXHER, Bt MR- EAR, F/LXSE,A
CEEE WM. HEEpE &, - NERETHAEE 5 A RBBRKIERE S H
REE A AERFREHFMUAEE.

#iim . (5) Tom caught a bad cold last night .

Q: What happened to Tom last night‘_?
() WEHF
BraEn . M. 25 . R ER%S%, 2% M double, less than , more than , expen-

sive , cheap, not worth 2RI B . WARM M FHEH ISR B PR o] 5.
101 : (6) The shirt is $ 15 each. '

Q: How much are three shirts?
(7) W He went there by No. 1 bus.
M: I’m sorry to hear that, he should go there by No. 11 bus.
(8) W: Can I have a sleep? ) '
M There is only 2 minutes left.
T4 50 2 288 B[] R R fm DA 3 R
) #EWE
U2 o] B — M #F 2 [7] What can we know from the passage/short conversation/story?
HRAFEEREENEXF T RKR TR HESEHREFEATRIERES, EXR
P RARZRNETRRERLM,
B :(9) W. I know that they can even teach the elephant how to dance.
M: Maybe we can learn how to dance from there.
Q: What can we know from the conversation?
FBAFHET LI EET They want to teach the elephant how to dance. ERIEHM.
PLERFEMER BN N —BREGRAE RN — BT, Nt E8E, AEREGTRSY
B .BEENRERTERES, £%5 5 - 40O W ER, AT, A £07,
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Test 1

BT WTESBMNE. BRMBEEE—NMLAEFHS AB.C ZMETFELERE
WA RB WAL R . U758 0B EE RERA 10 B8 B9 A1 5K 25 77 S0/ MB IR i
F—hB. BEIENE—E.

B, R BT HE:

M Excuse me. Can you tell me how much the shirt is?

W: Yes, it’s nine fifteen.

W%

How much is the shirt?

[A] £19.15

[B] £9.15

[C] £9.18

HEY MR o 8 15 €4, B l45i%E# B, #Eﬁ#tﬁﬁ%ﬂj
Answer: [A] (W] [C]

1. Has Peter seen the film?
[A] No, he hasn’t.
[(B] Yes, he has.
[C] He went to the theatre, but he didn’t see the fllm
2. Who is more beautiful?
[A] Janet.
[B] Mary.
[C] Both of them are ugly.
3. How many bottles of water do they have?
[A] Eight.
[B] Two.
[C] Three.
4. What’s the weather like today?
[A] It is sunny.
[B] It is windy.
[C] 1t is going to rain
5. Which packet the man bought? .
[A] The blue one.
[B] The red one.



[C] Neither of them.

BT OWTES BMERMA. SRXMEHMAEHEILN/NE. MEEFSK AB,C
=AET P& BRSSP EREMENCE. WEERXNIERM A, REHE 5 By
BB B A MBI S, B MER A 5 A E R E . BERERMARFER.

e 6 BEd s, E& 5 6.7 .
6. Where is Janny?
[A] At home.
[B] At the theatre.
[C] On the way home.
7. When can Janny get home?
[A]9.50.
[B] 10:00.
[C] 10:10.

W 7 Beit R, BIE S 8.9 .
8. Where does the conversation take place?
[A] In the park.
[B] In a kindergarten. -
fC1 At home.
9. How many kids are there? -
[A] 24.
[B] 5.
[C] 43.

Ui 8 Bb M EIASSE 10 B4 12 .
10. What’s happened to Gloria’s father?
| [A] He got angry.
[B] He was ill.
[C] His car broke down.
11. When did Gloria want to talk with his father?
[A] This afternoon.
[B] This week.
[C] Never.
12. What can you see from the conversation?
[A] Gloria’s father won’t buy a car for him.
[B] Gloria will not need a car any longer,

[C] Gloria still wants a car.



WrsE O BEAr K, IS 13 2565 16 &F.
13. Where did Sally go this afterffoon?
-[{A] Home.
[B] Library.
[C] Clinic.

14. Which language should the translator know?
[A] English. ‘
[B] Japanese.

[C] French.

15. Who can speak French?

[A] Mr. Smith.
[B] Sally.
[C] Sally’s sister.

16. When will Mr. Smith come again?
[A]5:45.

[B] 6:30.
[C] 6:03.

SUTSE 10 Bt B, BB 5B 17 B 20 [,
17. The merchant would leave his fortunes to which son?
f{A] To his oldest son.
[B] To the cleverest son.
[C] To the youngest son.
18. He told each of his sons to pa)" one coin for what?
[A] Something good to eat.
[B] Something that would fill the room.
[C1] A bit of sand to cover the floor.
19. When the merchant gave money to his sons to buy something to fill their room, which
one is the oldest son’s thought?
[A] It was easy to do so.
[B] It was lucky for him to get money.
[C] It was impossible for him to do so. .
20. Which one is the reason why the youngest son was the cleverest son?
[A] He bought a lot of straw and covered the whole floor.
[B] He bought a lot of sand and filled the room.
[C] He bought a candle and made the room very light.



Test 2

H— UTE 5 BXHE. SEMEEA—A/ME, TS AB.C SABTFEH
BT, AR RS MBI B . 7 5245 BOWESS AR 10 Bbh 0 (R 3R [E1 2 36 /MR
BT —/ME. SEMENE—A.

B, R BILTREA:
M: Excuse me. Can you tell me how much the shirt is?

W Yes, it’s nine fifteen.

HEEM

How much is the shirt?

[A] £19.15

[(B] £9.15

[C] £9.18

FHERMEEN 98 15 FL, FTLRER B M, HHERSE BB HRE.
Answer: [A] [R] [C] .

1. How much would the woman pay for the rate if she were to ‘stay for a week?
[A] 240 dollars. ‘
[B] 8 dollars.
[C] 56 dollars.
2. What did they do yesterday?
[A] Fishing.
[B] Playing golf.
[C] Nothing.
3. What time does her class start on Saturday?
[A] 9:00. ’
[B] 8:00.
[C] She didn’t mention it.
4. Why couldn’t Peter play on the basketball team?
[A] He was too fat. :
[B] He couldn’t run quickly.
[C] He was not tall enough.
5. Where did this conversation most propably take plake?
[A] Shop.
[B] Book store.
[C] Post office.

BV WTES BXERME. SEXERMEBA L ME, AERETAH AB.C
6 . ,



EAEIPE HBAEET FIFERBRORNMER. WEBXHERM AR FHEHF 5 ﬁ%%ﬂf
B B &AM T )T & /DB A S BRI ER . BB ERME XA,

WP S 6 BLAE K, EIESE 6.7 .
6. Who liked the film?
[A] The man,
[B] The woman.
[C] Neither of them.
7. What did the man think about the movie?
[A] It was good.
[B] There was too much fighting.
[C] There were too many funny things.

Wr3E 7 BLA R, IS 8.9 B ,
8. Whom does the man want to speak to?
[A] The woman.
[B] Tonny.
[C] Mr. Bruce.
9. Which one is the man’s office number?
[A] 6978—5253.
[B] 6879—5252.
[C] 6978—5352.

WS 8 BN IS 10 ZH 12 .
10. Did the woman feel angry with the man?

[A] No, not at all.

[B] Yes.

[C] No, she knew that the man was joking with her.
11. What happened to the man yesterday?

{A] He went to the theatre himself.

[B] He went to the theatre with the woman.

[C] He forgot to go to the theatre with the woman.
12. What happened to the woman yesterday?

[A] She got angry. ‘

[B] She forgot to go to the theatre.

[C] She was quite busy.

Wsh 9 Brbbk, EIZ S 13 =45 16 &,
13. When does this conversation take place?
[A] 6:45.



(B] 7:45.
[C] 6:14.
14. Who knows the weather report?
[A] The man. -
[B] The woman.
[C] Neither of them.
15. What’s the weather going to be like this morning?
[A] Excellent.
[B] Bad.
[C] Windy.
16. What’s the weather going to be like this afternoon?
[A] Sunny.
(B] Windy.
[C] Rainy.

CUTER 10 BAbR, EIK S 17 B4 20 M,
17. Who wanted to go on a journey?
EA] The boy.
[B] The business man.
[C] The servants.
18. How many servants did the traveller have?
[A]®.
[B] 11.
[C] 10.

19. What did the boy want to carry?
[A] Something small and light.
[B] Gold.

[C] Food. :

20. What happened to the boy’s bag?
[A] Larger and larger.

[B] Smaller and lighter.
LC] Heavier than before.



Test 3

g% WTES BXE. SBRMEEA /NI, MEPHTA A.B.C ZMET i
BT, R E RS AN R . W58 BXHERS . R EA 10 B4 i a [k & H X /PEM
BIET —/ME. BEXHEMNE—HE.

Bl R BT NE .

M: Excuse me. Can you tell me how much the shirt is?

W: Yes, it’s nine fifteen. .

R EW :

How much is the shirt?

[A] £19.15

[B] £9.15

TC] £9.18

HEBMER 98 15 E 14, BT LMRER B I, R E RS LR,
Answer: [A] (W] [C]

1. How much did the woman give the driver as a tip?
[A] $ 10.
(Bl $ 1.s.
[C] $ 8.5.
2. Where did this conversation most probably take place?
[A] Hotel.
[B] Store.
[C] Airport.
3. What did the woman ask the man to bring?
[A] Dictionary.
[B] Bag.
[C] Notebooks.
4. What is too héavy?
[A] Jimmy’ s grandmother’ s suitcase.
[(B] Jimmy.
[C] Jimmy’ s grandmother.
5. What time will the man probably meet with the doctor?
[A] At 10:45 tomorrow.
[B] At 9:30 tomorrow.
[C] Before 9:30 tomorrow.

BN WITES BMERME. SBERMEEAILS/ME, AEF A AB.C
9
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6. Who wants to invite Helen to the party?
[A] Danny.
[B] Tonny.
[C] Fred.

7. When shall Helen go to the party?
[A] Before 8:00 on Friday night.
[B] Anytime after 8:00 on Friday night.
[C] Any time on Friday night.

W7 BN, EAS 8.9 5.

8. Who found a watch?
[A] Fred.
[B] The man.
[C] The woman.
9. What can we know from the conversation?
[A] The man forced the woman to say hello to Fred.
(B] The woman had a bad memory.
[C] The woman didn’t want to say hello to the man.

rEE 8 B, BIES 10 EH 12 /8,
10. Where did Paul lock his keys?
[A] In the house.
[B] In the office.
(C] In the car.
11. Does the woman like to lend her car to Paul?
. LA] She does not like to lend her car to Paul.
[B] She will use the car this afternoon.
[C] She will lent her car to Paul.
12. What can we know from the conversation?
[A] Paul will go home for spare keys.
[B] Paul will use the woman’ s car.

[C] Paul’ s aunt will go home by herself.

Uit o BTN S 13 EH 168,
13. Whose sister is going t0 get married?
[A7] The woman’ s sister.
10




[B] The man’ s sister.
[c] Tom’ s sister.
14. How long has Jane known his boy friend?
[A] One year.
[B] Three years.
[C] Two years.
15. How old is Danny?
[A] 32.
[B] 31.
{C] 33.
16. What’s Danny like?
[A] He’s tall, but handsome really.
[B] He has blue eyes and brown hair.
[C] He is handsome really, with blue eyes and black hair.

WrsE 10 B, EIESE 17 E5 20,
17. Why did the man give the woman a gift?
[A] He was afraid that she fni;ht have found he had stolen the elephant.
[B] He found that she was examining the elephant carefully.
. [C] He thought she had found there was something wrong with the elephant.
18. Did the woman want to accept the gift?
[A] She would not accept it.
[B] No. She didn’t want it at all.
[C] Of course, she wanted to accept the gift.
19. How much did the woman get?
[A] $50.
[(B] $100.
(C] $10.
20. Why did the woman examine the elephant carefully?
[A] She found the elephant was sleeping.
[B] She had never seen an elephant before.
[C] She found the elephant’ s ears looked strange.

11



Test 4

% WFES BiE. SEMEEE—AN/MENERHS AB.C EAMRTIPE T RE
PRI, AR 70 B8 WA RO B . U S8 BOWHE 5 L AR ER A 10 B4 iy e 1 Ok [ 2 A oK /1N R i
FT—A8. SR IEMNE—E. ‘

P, RERBLLTRE:

M. Excuse me. Can you tell me how much the shirt is?

W: Yes, it’s nine fifteen.

WEEW:

How much is the shirt?

[A] £19.15

[B] £9.15

[C] £9.18

HERMRER 96 15 1, FTLAMRES B I, FH 7 KE EWHRS .
Answer: [A] (W] [C]

1. When did Julia leave?
[A] 7:40.
[B] 8:00.
[C] 8:20.
2. Where did the conversation most probably take place?
[A] Police office.
[B] Bank.
[C] Shop.
3. What did Mary and Lizzy organizing?
[A] A medical meeting. .
[B] An Art conference.
[C]A pariy.
4. When should the man make his call to Houston?
[AJ At eleven o’ clock.
[B] At one o’ clock.
[C] At nine o’ clock.
5. Did Tom get the news that the meeting is delayed?
[A] No.
[B] Yes.
[C] He forgot it.

oW WTHS BMERMA. SEMERMEBE AN, AEFFAK A.B.C
12
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s 6 B R, % 6.7 &,
6. What does the woman want to buy?
[LA] Some clothes.
[B1 A watch.
[C] A car.
7. Which one does the man advise the woman to buy?
[A] He can’t d.ecide.
[B] The new one.
[C] The old one.

WrsE 7 Bebhs . EIESE 8.9 &
8. Who wants to speak to Mr. Brown?
(A7 His friend.
[B] Mary.
[C] His wife.
9. Which one is the woman’s office number?
[A] 2024—7033.
[B] 2024—3723.
[C] 2024—7332.

Witk 8 Brbbb, B 10 25 12 4.
10. Has the man seen a good movie recently?
[A] Yes, he has.
[B] No, he hasn’t.
[C] He doesn’t like movies.
11. Which is the movie that the woman saw last week?
[A] The Run of Supermarket.
[B] The Return of Sugar.
[C] The Return of Superman.
12. Did the woman like the movie?
[A]Yes, she liked it. .
[B] No, she didn’t like it at all.
[C] She thought it was ordinary.

WS o BrbtAY, I 13 B 16 .

13. Who sent the car to the man?
[A] His mother.

13



